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BT 4 | A 5K 7 % > mpT 4 | M 3R 7 = = myOT 4 | %K ) 7 P myOT 4 | 3 7 = =
w1 T H 240 275 292 567 |~ WHAT5 T H 509 587 595 1,182|% BT 7 T H 1,209 1,593 1, 446 3,039 i A A3 H 216 286 272 558
B W 2T B 375 415 408 823| T » WEMT6 T H 377 416 423 8393 BT 8 T H 489 616 611 1,227 |/ | 4,450| 5,412| 5,487| 10,899
B w3 T A 289 348 352 700 s 9,292| 10,815( 10,739 21,554|% BT 9 T H 957| 1,179 1,043  2,222| fRE1TH 102 108 112 220
FE4ET1T B 148 158 136 294 |k IE 603 653 691 1,344RSMT1 T H 127 117 116 233| _RE2T H 301 361 372 733
FasET2 T B 96 87 85 172|% EET 1T H 307 405 390 795K JA BT 2 T H 328 368 364 32| _RE3T H 273 320 350 670
PE4ET3 T B 124 146 172 318|% M2 T H 596 703 672 1,375 5 8,377 10,379 9,507| 19,886 {=E4T H 127 133 157 290
£ L HT 282 278 308 586 |9 BT 3 T H 1, 460 1,549 1,450 2,999 |W 0BT 1T H 794 925 897 1,822 " {RE5T H 95 125 124 249
N HT 413 428 441 869|% T4 T H 741 779 765 1,544 130 AT 2T H 295 379 352 3R H 1T H 74 83 80 163
fip L) 215 217 235 452k 3 1 T H 772 900 884 1,784 ({0 BT 3T H 225 259 272 531k 2 T A 126 153 150 303
1= T 132 125 142 267| Kk P9 2 T H 321 410 404 814 [{T L AT 4 T H 731 739 715  1,454R 3 T H 116 124 120 244
* F W 184 221 235 456K P9 3 T H 682 844 869 1,713 ({0 BT 5T A 729 742 734 1,476 |4 & A AT 181 180 203 383
= fF HT 448 475 534 1,009 (¥ A 432 391 480 871 T6 T H 1,222 1,361 1,333 2,694( & 1 T H 60 55 58 113
K o WE HT 493 562 571 1, 133 |4 52 431 515 547 1,062 0 BT 7 T H 1,092 1,088 1,164 2,252|% &£ 2 T H 70 77 78 155
W/ kT 312 314 333 647| A B F 1T H 260 318 325 643 [ L BT 8 T H 760 872 724 1,596|f0 & Il 36 62 77 139
KB HET 519 607 587 1,194k 8 F2 7T H 237 330 338 668 [T I BT 9 T H 934 898 957|  1,855|/h at 1,561 1,781 1,881 3, 662
HinfnE1T B 207 223 241 4644 ¢ 1 T H 481 694 652 1,346 ({0 BT10T H 836 770 755 1,525\ = [ 1 T H 411 290 325 615
HmEfnHE2T H 276 316 337 653|454 ¥ 2 T H 82 100 99 199 Ea 7,618 8,033 7,903| 15,936|% [ 2 T H 90 99 99 198
HmEfiHE3T H 304 383 399 782|454 F 3 T H 329 458 422 880|fk #& 1 T H 180 200 214 414|855 [ 3 T H 254 189 191 380
Ft 5,0657| 5,578| 5,808 11,3864 ¢ 4 T H 545 729 694 1,423|#E 1G5 2 T H 944| 1,302 1,213  2,515/h@ K1 T H 92 120 99 219
B AKRTL T H 234 282 288 5704 3 5 T H 462 605 606 1,211|#E 1 3 T H 336 433 427 860 /N AK2T H 48 58 59 117
By AmT2 T H 355 415 410 825 s 8,741| 10,383| 10,288| 20,671|4 H 1 T H 1,294 1,467 1,484 2,951/ K3 T H 180 236 228 464
B KET3 T H 206 279 275 554|3 # MfE 1 T H 478 462 525 987(4 2 T B 965 1,090 1,178 2,268|/Nr A4 T H 235 186 256 442
El1TH 696 713 754 L467T|W H M2 T H 826 817 865 1,682(4 # 3 T H 886 1,021 998 2,019(/N A5 T H 73 81 95 176
Ei2TH 701 868 870 L7338 & M3 T H 1,072 1,105 1, 094 2,194 H#H 4 T H O R 1T H 204 171 211 382
EW3TH 384 521 523 Lo FHMH4a4T H 731 707 708 1,415|4 # 5 T H 182 57 159 216(8 R 2 T H 255 320 302 622
Ei4TH 781 867 970 1,837\ & M5 T H 967 969 990 1,959 G 4, 787 5, 570 5,673 11,243 R 3 T H 410 239 374 613
EW5TH 530 545 561 1,106|3 & M6 T H 368 422 382 804 [/ | 51,564 58,721 57,989 116,710/ G 2,252 1,989 2,239 4, 228
E e T H 155 210 216 426|1M » i1 T H 415 466 471 937/ 1 T H 348 443 400 843[p A 1 T H 256 207 278 485
EW7TH 483 537 487 1,024 (48 » fi2 T H 795 726 848 L5748 2 T H 424 476 507 983[p A2 T H 388 279 291 570
E 8T H 272 321 311 632|ffi [ BT 1 T H 329 411 387 798|/m 3 T H 436 550 553 1,103[p A 3 T H 110 138 133 271
EW9TH 3 4 3 7|6 [ BT 2 T H 698 834 827 1,661 (Ffn HHETL T A 219 278 268 546 (A A 4 T H 60 58 61 119
KHET1TH 309 372 350 722|fifi fA BT 3 T H 556 597 542 1,139(Ffn HET2T A 273 330 354 684(p A5 T H 76 76 81 157
RKHEWT2T H 349 334 328 662 |ffi [E BT 4 T H 457 447 432 879(#E # 1 T H 151 206 197 403|pk A 6 T A 37 51 51 102
RKHEBT3T H 293 389 364 753 =i 7,692| 7,963| 8,071| 16,034|#E 4% 2 T H 168 197 222 419\ A7 T A 72 88 86 174
K HEWT4T H 318 390 395 785[%F BT 1 T H 1,137 1, 404 1,324 2,728|#E 4% 3 T H 182 229 219 448|pk A 8 T H 102 128 103 231
K HEHBTS T H 298 355 364 7198 BT 2 T H 724 950 811 1,761 |4 %5 4 T H 207 249 248 497 [/ 2 1,101 1,025 1,084| 2,109
T WERT1 T H 678 778 788 1,566 81 ] 3 T H 1,510 1,730 1,517 3,247 |45 # 5 T H 480 618 638 1,256 |t 3E Bt & &t 9,364 10,207 10,691 20,898
T WHET2 T H 522 629 607 1,236[87 BT 4 T H 672 804 788 1,592 |4 %5 6 T H 497 662 599| 1,261 |& 2+ 60,928| 68,928| 68,680 137,608
T WERT3 T H 394 492 422 914(%¥r BT 5 T H 1,126 1,486 1,367 2,853 |4l A BT 1T H 369 458 451 909
T WERTA T H 445 511 435 946(%¥r ®T 6 T H 98 132 120 262\t ART2 T H 480 430 559 989




